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Q1. What is an operating system?



 

[1mk]

Q2. What is cascading of I/O operators?




[1mk]

Q3. What is the difference between ‘h’ and “h” in c++?


[1mk]

Q4. How are files and devices implemented at lowest level?


[1mk]

Q5. What is an interpreter?
 





[2mk]

Q6.How many times “hello” will be printed in the following code fragment:
                        for (i=0; i<5; i++)

                            for (j=0; j<4; j++)

                                   cout<< “hello”;




[2mk]

Q7.Evaluate the following, where a, b, c are integers and d, f are floating point numbers.

        The value of a=8, b=4 and d=2.5
(i) f = a * b  + a/b

(ii) c = d-a + b % a

(iii) c= (++a) * (b++) - (++d)
(iv) f = (++b) / b – a %b





[2mk]

Q8. Explain ‘break’ and ‘continue’.





[2mk]

Q9. What is the output of the following:

  1.        # include<iostream.h>

             void main ( )
 
{

    int i=0;
    for (i=1; i<=20;i++)

     { 

       cout<<i;

       i=i+2;

     }  

}

2.        # include<iostream.h>

         
 void main( )

 {

   a=3;

   a=a+1;

   if (a>5)

     cout<<a;

  else

     cout<<(a+5);

}








[2mk]

Q10. What will be the output of the following program segment:

           If input is as:

           (a) w
(b) r
(c) s
(d) f

           cin >>code





           switch (code)

            {
              case ‘w’: cout<<”winter”;

              case ‘r’ : cout<<”rainy”;

                             break;

              case ‘s’ : cout<<”summer”;

                            break;

              default: cout<<” wrong code”;     

           }








[2mk]

Q11. What the difference between while and do-while loop?

[2mk]

Q12. What is the significance of default clause in a switch statement? 
          What is meant by variable’s scope?   



            [2mk]

Q13. Define pointer variable and enumeration. Give example of each.        [2mk]

Q14.Determine the output:
(i) int a=300, b=0, c=0;

if(a>=400)

 {

   b=300;

   cout<<a<<b<<c;

}

(ii) i=6;

while(i)
   cout<<i--;

   cout<< “ \n thank you” ;




[2mk]

Q15. What is a header file and why we include them in our program?
[2mk]
Q16. Explain procedural programming and modular programming

[3mk]

Q17. Describe microcomputer, mainframe and super computer. 

[3mk]

Q18. What is a loop? What is infinite loop? Write a for loop to print values 

         10 to 1 on separate line in descending order



[3mk]
 Q19. What output will the following code fragment produce?

          void main( )

        {

 int val, res, n=1000;


cin>>val;

            res = n+val >1750 ? 400:200 ;

            cout<<res;

        }

         (i) if val=2000
(ii) if  val=1000
(iii) if val=500
 


[3mk]

 Q20. Draw a flow chart to calculate simple interest with 10% rate if time is 

          Greater than 2 yrs otherwise calculate simple interest with 5%. 

[3mk]

Q21. Explain the terms

(i) Low level language

(ii) Encapsulation

(iii) Inheritance







 [3mk]

Q22. Write a program to reverse a number.





 [3mk]

Q23. Write a program to read a string and print how many words are stored in

          the string 








 [3mk]   

Q24. Find the syntax error(s), if any, in the following program:
         # include(iostream.h)
          void main ( )

           int X,Y;
           cin>>X;
           for(Y=0,Y<10, Y++)

              if X= =Y

                       cout<<Y+X;

             else

                      cout>>Y;

       }       









[5mk]
Q25.     Evaluate: 

           A. Convert the following decimal number to binary:

    

(i)  22.25
(ii) 106




           B. Convert the following hexadecimal numbers to decimal:

       

(I) 2C9


(II) B4A.2



           C. Convert (1101.101)2   to decimal.





 [5mk]

Q26.      Evaluate:

I.  Convert the following binary numbers to octal:

        
 
(i) 111010

(ii) 110110101


II. Convert the following binary numbers to hexadecimal:

       

 (i)  10011011101
(ii) 1010110110111



III. Convert (25.25)10   to its binary equivalent


IV.Convert (372)10  to its octal equivalent



V.Convert (423)10  to its hexadecimal equivalent



[5mk]

Q27. Answer the following:

A. What are advantages of floating-point numbers over integers?



B. How is gets( ) different from getline( ) ?






C. Write the single character console I/O fuctions.





D. Which header files are required for the following:

        

(i) puts( )
  (ii) sqrt( )
(iii) clrscr( )
(iv) exit( )

[5mk]
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